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. . . The SNP will form the next
Scottish Parliament election 2021 results g v overnment after

a historic fourth consecutive win. The results of the election are shown below;
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Steps star now working as a school
headteacher after moving to Dubai

Her first pop hit sounded like something from a
maths lesson - so it seems
fitting Lisa Scott-Lee is

now a headteacher. STl

We can reveal the Steps
star now runs a performing
arts school in Dubai and to 2
the 600 pupils, she's simply ""’&
"Miss Lisa". L b 3 A
Steps are a British dance-pop group who first hit
the UK charts with the song "5, 6,7, 8" in 1998.

Which of the numbers 5, 6, 7 or 8 are factors of
600? You must give a reason for your answer!
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(@) How many seats did the SNP win?
(c) How many seats did the Greens win? (d) How many seats did the Liberal Democrats win?

(b) How many seats did the Conservatives win?

In the Scottish parliament, there are 129 seats altogether.

(e) How many seats did Labour win?

To win a majority government, one party must win more seats than the other parties combined.
(f) What is the minimum number of seats needed for a party to win a majority government?

Dumfries and Galloway ranked second in the UK for public toilets

With a population listed as 148 860 the region has 96 public toilets of which 81 of
them are open. What percentage of public toilets in Dumfries and Galloway are open? |

Deaf Awareness Week ends today

The aim of this wonderful annual event is to raise
awareness and challenge perceptions of hearing
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